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1.	
  	
  Prove	
  by	
  induction	
  that	
  for	
  all	
  n	
  =	
  1,	
  2,	
  3,	
  …	
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  a)	
  prove	
  the	
  base	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  
	
  	
  	
  	
  b)	
  what	
  do	
  you	
  need	
  to	
  prove	
  for	
  the	
  step?	
  
	
  
	
  
	
  
	
  
	
  	
  	
  	
  c)	
  prove	
  the	
  step	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
2a)	
  For	
  which	
  integer	
  values	
  does	
  the	
  following	
  inequality	
  hold:	
  	
  2n	
  	
  >	
  	
  n2	
  
	
  

	
  

	
  
	
  	
  b)	
  Prove	
  the	
  inequality	
  by	
  induction	
  	
  
	
  
	
  
	
  


